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Megan uses 6 ripe bananas to prepare smoothies for 3 guests. How many bananas will

she require to make smoothies for 6 guests?

2)

Fifty bouquets contain 200 orchids. How many orchids will 6 such bouquets hold? 3)

4)

The Henderson family consumes 16 bottles of orange juice in 4 weeks. How much orange

juice will the family require for 8 weeks?

1)

5)

Unitary Method | Word Problems

Belinda bought 15 sets of color pencils as return gifts for her daughter’s birthday party. She

spent a total of    75 on the purchase. Find the cost of 9 sets of color pencils.S

A publishing company managed to sell 196 copies of a new book in one week. If the sales

were constant, how many books were sold in 5 days?
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